(13a) Decimals

Non calculator throughout

Order the decimals smallest to largest (ascending order)

0.21, 0.0222, 2.102,
21.01, 2.28
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(13a) Decimals

Non calculator throughout

Order the decimals smallest to largest (ascending order)

0.01, 0.888, 1.0, 10.08,
80.001

0.21, 0.0222, 2.102,
21.01, 2.28

0.21, 0.0222, 2.102,
21.01, 2.28

Find

0.01, 0.888, 1.0, 10.08,
80.001

0.01, 0.888, 1.0, 10.08,
80.001

1.32 + 21.23

15.63 - 2.97

0.32+0.123 + 11.7

Calculate

0.2x04

0.5x0.6

0.12x0.4

Work out the following

Find Find

1.32 + 21.23 1.32 + 21.23

15.63 - 2.97 15.63 - 2.97
0.32+0.123 +11.7 0.32+0.123 +11.7
Calculate Calculate

0.2x0.4 0.2x0.4

0.5x 0.6 0.5x 0.6
0.12x0.4 0.12x0.4

Convert 20% to a decimal

Work out the following

Work out the following

Convert 0.65to a
percentage

Convert 20% to a decimal

Convert 20% to a decimal

Write % as a decimal

Convert 0.65to a
percentage

Convert 0.65to a
percentage

Which is bigger? 0.21 or
1/5

Write % as a decimal

Write % as a decimal

Put these in order of size,
smallest first: 0.31, 33%
and 3/10

Which is bigger? 0.21 or
1/5

Which is bigger? 0.21 or
1/5

Put these in order of size,
smallest first: 0.31, 33%
and 3/10

Put these in order of size,
smallest first: 0.31, 33%
and 3/10

Find 0.2 of £40

Find 0.1 of £55

Find 0.2 of £40

Find 0.2 of £40

Wordy questions

Find 0.1 of £55

Find 0.1 of £55

John does one lap of the
track in 59.34 seconds. He
does a second lap. His
total time was 118.64
seconds. How long did his
second lap take?

Wordy questions

Wordy questions

The price of cake fell one
week from £3.24 to £1.80.
The following week it was
reduced by a further 67p.
Find the total saving on
the original price.

John does one lap of the
track in 59.34 seconds. He
does a second lap. His
total time was 118.64
seconds. How long did his
second lap take?

John does one lap of the
track in 59.34 seconds. He
does a second lap. His
total time was 118.64
seconds. How long did his
second lap take?

Sue wants to buy 0.8
meters of string. The string
costs 40p a meter.
Calculate what she has to
pay for the string.

The price of cake fell one
week from £3.24 to £1.80.
The following week it was
reduced by a further 67p.
Find the total saving on
the original price.

The price of cake fell one
week from £3.24 to £1.80.
The following week it was
reduced by a further 67p.
Find the total saving on
the original price.
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Sue wants to buy 0.8
meters of string. The string
costs 40p a meter.
Calculate what she has to
pay for the string.

Sue wants to buy 0.8
meters of string. The string
costs 40p a meter.
Calculate what she has to
pay for the string.
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